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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

weTS FRICIRS il (e vib fats wipifd B o

(a) State whether ¢ (sigma) is a population
parameter or statistic.

o (sigma) 29 A6 7 s I8 47 |

(b) What is coefficient of variation?

299 128l 5 2

(c) Define equally likely cases.
FEPTSIEAI G611 kel fi |
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(d)

(e)

(9)

(h)

@)

0
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(2)

If A and B are two independent events,
P(Au B) = P(A)+ P(B)- P(An B).

(Write True or False)

A SF B Bl TG W W, CRE
P(A v B) = P(A)+ P(B) - P(An B).

(SENCRETRE )

What is meant by probability
distribution of a random variable?

e o SRl 951 e 7 a2

What is the difference between the
variances of Binomial distribution and
Poisson distribution?

faet S <176 A5 PR N1y 2

What is
distribution?

AIfes el 35 {F 2

marginal probability

Define purposive sampling.
SR 2ifSnEe Sk |

Mention two
sampling.

oz el o1 “Fafs Seas 394 |

methods of random

Ifr=0.9, interpret the result.

i r =0-9 =, 2w w7 s qwm

( Continued )

(3)

(k) What is the relation between mean,
median and mode?

TS, TN I T2E1q o 3 9

() Define conditional probability.
SO IR ewa] fare |

(m) B(X)= %ff

(Write True or False)

B(X) = zf‘

(w= 7 o fore)

(n) Write the probability  distribution
function of Poisson distribution.

0> I el 39+ erereh o |
(o) If two values of a variable in a series are
equal, how is the rank determined?

i g cﬁawzﬁrwawmm’m
meﬁa‘mwiﬂ?

(r) What is scatter diagram?

4R fog & 2

(@) Define covariance.

TREPRN % iy |
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(r)

(4)

Show that E(c) = ¢, where cis a constant.
G487 AE(Q =c, TS ¢ 29 9B £33 |

2. Answer any five of the following questions :

2)(5:10

(@)

(b)

(c)

(d)

A23/180

Distinguish between arithmetic mean
and harmonic mean.

MAEF 9T S S 7 T A2l 135 2

If the values of a variable of a series are

multiplied by a constant, what will
happen to standard deviation?

ﬂﬁ@ﬁrww@ﬁamﬂm@qw
m,mﬁwwmmﬁsmv

Under what
distribution
distribution?

FHARAT 569 SRS Rep IG5 3G
FRRe = 9

conditions
tends to

binomial
Poisson

A card is drawn from gz pack of well

suffled pack of cards. What is the
probability that it is either
spade?

ﬂﬁWCWWQﬁ&ﬂWWWW,
(TR ¥ @ %1 eqrors ERR i
b=

?

a king or a

( Continued )

(e) Write two

(g)

()

(i)

)

A23/180

(§)

demerits of systematic

sampling.

“Tafore 2fSor 71 wppfer fora |

Distinguish  between
non-linear correlation.

WWWWW’HWWI

linear and

If the first quartile (@) =30 and third
quartile (Q3) =35, find coefficient of
quartile deviation.

M A9 TN (Q) = 30w PO vwfiey
(Q3) =35, (7=’ Tpefien sy Bfye |

Write two properties of Poisson
distribution.
> 3% o1 4 Forey |

Mention two variables whose correlation
coefficient is zero.

amﬁmmﬁwmwmﬂm
ST |

What is moment?

g 5 2
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7
(6) Lt
) (c) Prove that
3. Answer any four of the following questions :
5x4=20 E{aX £bY) = aE(X) + bE(Y) 5
oo R I B e T fope - #1991 @, E(aX £ bY) = aE(X) + bE(Y).
(@) Show that standard deviation is (d) What is skewness? Determine Karl
independent of change of origin but not Pearson’s skewness from the following : 5
of scale. 5
Size P e s b L
(S @ T R0 o1 ofiedq o1 ed Frequency : 12 8 20 7 13
3 o1 “ffRaéa 711 yog 7y |
Sl 52 @/ OfeRera o1 7 Prat
(b) There are 3 economists, 4 engineers and Sl e |
2 statisticians. |
ati; do;:z:.;l: fofrr?agzrso?s ¥ Ch:fen (e) Describe briefly different steps involved
n Ol a committee. -
What is the probability that in the W PR AT .
committee there will be Ao TR e wivs Rida «wfy TR T
(i) one from each profession; T
(i) 2 economists and 1 statistician; (/ In a 5-match one-day international
(iii) all engineers? 0+0+1=5 series involving India, two veteran
batsmen made the following scores : 5
3 = WA, 4 w1 wfig w2 o :
ARRIRT /1 3 & o By SRS s SRS W TR AN SRR o= @ <o
27 | Rfve— (¥ETS 2 TF (IOYCACA T2 T4 IFIER OoTw
. [RIRSLEE
() AR MR W qEm R SRl
ﬁs:n:{? Player Score
e ™
(M) 2 &1 w@fefn o g i 1stODI 2nd ODI 3rd ODI 4thODI 5th OD]
AP AT ey o A 65 120 15 95 25
A23/180
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(8)

Identify the better batsman and more
consistent batsman in the series.

RIS e e @z oF S
WG&W@?W@W|

(9)

4. Answer any four of the following questions :

10x4=40

Soq i @I wifo! 2e S o

fa) Why is arithmetic mean known as ideal

(g) Income of gz group of 10000 persons average? State and prove the properties
were found to be normally distributed of arithmetic mean. 2+8=10
:t;l 6‘86;‘? ¥520 and standard deviation ffafes oee R Wl e 9 @E = o

Tl Mo RS 5159 GREPTR T& S 27 3497 |
() the number of persons having
tncome between ¥400 and & 550; (b)) Show that AM>=GM=HM. Calculate
(ii) the lowest income of rich 500 mean and standard deviation from the
For a st S ' following table : 6+4=10
andard normal variate z, the area
e e T ond (736q T AM > GM > HM. R ©IffRR *1
z=do.5130-1915, 91 S WA 5TG HF TWS [A0e1 Sferad
ana z2=1-645 is q.
between t =0 anq ¢ _425:;00 a;l;‘mﬂ;e pEes cr 0-9  10-19 2029 30-39
5 ‘ - 1 S
1
0000 T3 w1y Rroqy YR RroqeR 4RO Frequency — : 25 39 23 14
IR | T Roem 60 5F -
: {c) State and prove addition theorem of
() = R =T W® 400 1 =@ 550 probability when the cases are mutually
DI Ter A 9 exclusive. From a bag containing 4
(ii) >SHifes R white and 6 red balls, 3 balls are drawn
RN i Enzoo ST at random.
3 e i
PO < 250-5=0.107 i (i) Find the expected number of white
PO<z<q. 645)=0. 4::)0 orF balls drawn.
PO < 2<2)=0.477, (i) Find the expectation of drawing at
> least 1 red ball. 4+3+3=10
3/180
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